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Solution
normality AgNOs BaC12 LiCI NaCl KC1 KNO, L&I, H C I

0.01 0.4648 0 . 4 4 0  0 . 3 2 8 9 0 . 3 9 1 8  0 . 4 9 0 2 0.5084 0 . 4 6 2 5  0 . 8 2 5 1
0.05 0.4664 0 . 4 3 1 7  0 . 3 2 1 1 0 . 3 8 7 6  0 . 4 8 9 9 0.5093 0 . 4 4 8 2  0 . 8 2 9 2
0 . 1 0 0.4682 0 . 4 2 5 3  0 . 3 1 6 8 0 . 3 8 5 4  0 . 4 8 9 8 0.5103 0 . 4 3 7 5  0 . 8 3 1 4
0 . 5 0 0 . 3 9 8 6  0 . 3 0 0 0.4888 0.3958
1.00 0 . 3 7 9 2  0 . 2 8 7 0.4882
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D.C.Power Supply

~Rk&l  Moving-Boundary

n7n%Jb?~an%  (hydrochloric acid (HCl))

CH 343 (HI 261
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